HP-274F

TOWER TERRACING ASSY SMART SPRAYER

Wide version of the terracing tower is HP-274G

Note the hydraulic cylinders are for illustration

purposes only.

ITEM NO. PART NUMBER DESCRIPTION
1 HP-274B-7A TOP BRACKET TERRACE
2 HP-274B-10 WEAR PAD 75 X 50 X 10MM
3 HP-274B-16BL-1 WEAR PAD 75X 100X 8
4 HP-274F-1 TOWER TERRACE QM SMART SPRAY
5 HP-274F-2 CENTRE TOWER POST TERRACE QM SMART SPRAY
6 HP-274F-3L BOOM SLIDE LH TERRACE QM SMART SPRAY
7 HP-274F-3R BOOM SLIDE RH TERRACE QM SMART SPRAY
8 MI2X100BOLT M12 X 100 HEX HEAD BOLT HT ZP'
9 MI2x40 M12 X 40 HEX HEAD SET SCREW HT ZP
10 MI2FWASHER M12 FLAT WASHER ZP
11 MIZNNUT MI2 NYLOC NUT HT 2P
12 MG6X20CSSCREW M6X20 C/S HEAD SCREW
13 MOFWASHER M6 FLAT WASHER ZP
14 MENNUT Mé NYLOC NUT HT 2P
15 HP-298-6 HYDRAULIC CYLINDER 2.5 X 24
16 HP-298-6 HYDRAULIC CYLINDER 2.5 X 24

NOTE

\

Drawings are forillustration purposes only - refer to sprayerfor
actual plumbing. Parts lists are indicative of the sprayer type.

ltems in italics or without a part number are non stocked items
and may need to be specially ordered.

Forfurther pars information referto www.croplands.com.au

/

14/01/2020 Issue A

Parts Illlustration

Specifications subject to change without notice

Pagel of 1



